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2.1 – 2.3 Quiz Review #2              Bridge to Algebra 2 
 

 

 

 

Solve. Check your answer to know you solved the problem correctly.  
1. x – 10 = - 4 

 
2. y + 14 = - 3 

 
3. 9y = 108 

 
4. – 3x = 78 

 
5. – 6x + 7 = 25 

 
 

6. 5y – 42 = - 47 
 
 

7. 
2

3
𝑥 = 9 

 
 

8. 
4

5
𝑧 = 10 

 
 

9. 
𝑟

−4
= −2 

 
 

10. 
𝑦

−8
= 8 

 
 

11.  6 – 2x + 8 = 10 

12.  – 5 – 6y + 6 = 19 
 
 
 

13.  2x – 7 = 2x – 27 
 
 
 

14.  3 + 8y = 8y – 2 
 
 
 

15.  – 3a + 6 + 5a = 7a – 8a 
 
 
 

16.  4b – 8 – b = 10b – 3b 
 
 
 

17.  −
2

3
𝑥 =

5

9
 

 
 

18. −
3

8
𝑦 = −

1

16
 

 
 
 

19.  10 = - 6n + 16 

CONCEPTS BASIC INTERMEDIATE ADVANCED 

Addition Property of Equality (POE) 1, 2 5, 6, 11, 12, 15, 16, 19, 20 21 – 24, 27 – 34, 3 7, 38 

Multiplication Property of Equality (POE) 3, 4 5 – 12, 15, 16, 19, 20 17, 18, 21 – 24, 27 – 34, 

37, 38 

Solving Linear Equations 1 - 4 5 – 12, 15, 16, 19, 20 17, 18, 21 – 24, 27 – 34, 

37, 38 

Checking Linear Equations 1 - 4 5 – 12, 15, 16, 19, 20 17, 18, 21 – 24, 27 – 34, 

37, 38 

Special Solutions: ∞ or ∅ 13, 14 25, 26 35, 36 



20.  – 5 = - 2m + 7 
 
 

21.  3(5c – 1) – 2= 13c + 3 
 
 
 

22. 4(3w + 4) – 20 = 3 + 5w 
 
 
 

23.  
2(𝑣+3)

3
= 5 − 𝑣 

 

 

24.  
3(𝑤+2)

4
= 2𝑤 + 3 

 

 

25.  – 2(2x – 5) = - 3x + 7 – x + 3 
 
 
 
 

26.  – 4(5x – 2) = - 12x + 4 – 8x + 4 

 

 

27.  0.02(6p – 3) = 0.04(p – 2) + 0.02 

 

 

28. 0.03(m + 7) = 0.02(5 – m) + 0.03 

 

29. −3𝑦 =
4(𝑦−1)

5
 

30. − 4𝑥 =
5(1−𝑥)

6
 

 

 

31. 
5

3
𝑥 −

7

3
= 𝑥 

 

 

32. 
7

5
𝑛 +

3

5
= −𝑛 

 

 

33. 9(3𝑥 − 1) =  −4 + 49 

 

 

34.  12(2x+1) = - 6 + 66 

 

 

35.  
1

10
(3𝑥 − 7) =

3

10
𝑥 + 5 

 

 

36.  
1

7
(2𝑥 − 5) =

2

7
𝑥 + 1 

 

37.  5 + 2(3x – 6) = - 4(6x – 7)  

 

38.  3 + 5(2x – 4) = - 7(5x + 2)

 


